2004 1

2)
2)
1999 2003 11 15
24cm 10
Nationa
MK-K58 5mm
VT500
RVA  RB100 Smm
7
s
30 -
S 7"
2sec.
90sec.
1)
1 VT500 RVA
RB100
2) RVA RVA
RVA 6RVU
4.0 RVA
82RVU RB-100 31Pa s 2
3) 10 15 17%
3 2 17% RVA 82RVU
4
4)
5
5)
6 3
15kg/10a
10 15



RVA

20
19
18
17
16
15
14
13
12

RVA
RW)
407 a 92
470 b 98
4.43 ab 93
Sh

.. .y=-00018x" + 133.35x - 3E+0€ _
%= 0408

9/15 9/20 9/25 9/30 10/5

10/10 10/15 10/20 10/25 10/30 11/4
x

2

RVA RvVU RB100 Pa s
26
24 o
O

22 &2

£20 &
18
16
14

y = 250.13x - 241.36
12 r=0912**
10 1 1 1 1 1
1.01 1.02 103 1.04 105 106 1.07 1.08
1)
RVA RB100

2)

N15kg/10a

120
g 100
a4 %
----..---Q-}J
< O
& 60 o
y =2251x - 7.95
=0.816**
40 ' '
30 35 40 45 50
RVA
180
o <o
= 150 °°
> < Lo o ©
120 T ¢
e 0 ©,0
<>( {990 © é?jjo": °
& 90 R TR0
‘...o..ég.a...go.. R
N °
60 1 1 1 1 1 1
11 13 15 17 19 21 23 25
(%)
RVA
2002 420
105 N S
S _A —y
100 Pho-- - - e e Am=A
95 e W R ]
[
90 heeeeeeeoo-oootiz M0
.E. . —A—
85 1 1 1 1
20 225 25 30 40
/10a
11 14
N15kg/10a =18.7% =3.8Pa s =4.8%



